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Quiz Time! 

Q1:  For a communication session between a pair of 
processes, which process is the client and which is the 
server? 

Q2:  For a P2P file-sharing application, do you agree with 
the statement, “There is no notion of client and 
server side of a communication session”? Why or why 
not? 

Q3:  What information is used by a process running on one 
host to identify a process running on another host? 

Q4:  What is the difference between network architecture 
and application architecture? 
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Answers 
Q1:The process which initiates the communication is the 

client; the process that waits to be contacted is the server. 
Q2: No. In a P2P file-sharing application, the peer that is 

receiving a file is typically the client and the peer that is 
sending the file is typically the server.  

Q3: The IP address of the destination host and the port 
number of the socket in the destination process.  

Q4: Network architecture refers to the organization of the 
communication process into layers (e.g., the five-layer 
Internet architecture). Application architecture, on the 
other hand, is designed by an application developer and 
dictates the broad structure of the application (e.g., 
client-server or P2P). 

Applica2on	
  Layer	
   2-3 



LAN, MAN, and WAN 

•  LAN – Local Area Network 
•  WLAN – Wireless Local Area Network 
•  MAN – Metropolitan Area Network 
•  WAN – Wide Area Network 
•  SAN – Storage Area Network 
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LAN 
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MAN 
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WAN 
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Application Layer 

P2P file distribution: BitTorrent  


